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(2) Kolmogorov D-E |2

. D = max | F,(x) — QD(x)|
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- plot(density()) : kernel 2= st4 T2|7|
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DS=read.csv("http://wolfpack.hnu.ac.kr/iBooks/

example_data/lpga2008.csv") > names (DS)

names(DS) [1] "=1@" "EH_HH2" "H O HIO| _CtErET
[4] "2d HsE" "Ho HE " "ME_ 3| ="
[7] lI)ﬁE_h_”olEll llggll llé}?t_al_?_g#"

par(mfrow=(c(1,2))) #&! H|0|&]
plot(density(DS$Ar=), main="Kernel Density")
boxplot(DS$At=Z, main="Box-Plot")

Kernel Density Box-Plot

library(nortest) - °
shapiro.test(DS$AI2 = | H
ad.test(DS$AZ =
par(mfrow=(c(1,2))) #X|lZ= Hst g7
plot(density(sqrt(DS$A2)), main="Kernel Density(Sqgrt)") o
boxplot(sqrt(DS$AI=Z), main="Box-Plot(Sqrt)") . S
shapiro.test(sqrt(DS$AH2)) = g - :
ad.test(sqrt(DS$AH2)) : ) 5

8

par(mfrow=(c(1,2))) # 21 i3l
plot(density(log(DS$AH2)), main="Kernel Density(Log)")
boxplot(log(DS$AHZ), main="Box-Plot(Log)")
shapiro.test(log(DS$AH2))

ad.test(log(DS$A2))
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3) il—?—izl 3H7E:l > shapiro.test(DS$al=

L4 A2 21 H|0|E = R2 XA O|AMK| =X Shapiro-wilk normality test
P ) Ol data: DS$&3
T HBRLE 47 270.71659, p-value = 4.757e-16
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= 2 | > shapiro.test(sqrt(Ds$a=2))

=1 : . .

o 3 2 Shapiro-wilk normality test

Eq } BE

5t ) ' data: sqrt(DS$&=

2! S W = 0.90147, p-value = 8.899e-09
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> ad.test(sqrt(DS$&=))

Anderson-Darling normality test
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Kernel Density(Log) Box-Plot(Log)
al . > shapiro.test(log(DS$&=2))
o - Shapiro-wilk normality test

= data: Tog(DS$a=
R © W = 0.97856, p-value = 0.01512
§ o~ = > ad.test(Tog(DS$a2))

é Anderson-Darling normality test
= | = + data: Tog(DS$al=
A = 1.3187, p-value = 0.001952
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par(mfrow=(c(1,2)))

DS.bp<-boxplot(DS$ A=, main="&IH|0|E{") #AXteHFOE Z1 H7|
DS.bp$out #0|AX|

boxplot(DS[which(DS$AFZ2<=12500),1$AH2, main="0|AX|H|2|")
t.test(DS[which(DS$A2<=12500),1$AH2) #UHZF 959% AlZ|2

DS.bp2<-boxplot(log(DS$AtZ), main="2 1 H|0|E{")

DS.bp2%out

boxplot(log(DS[which(log(DS$AF2)>5),1$AH2), main="0|AX|H|2|(Z1)")
t.test(log(DS[which(log(DS$At=2)>5),1$4=2))
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: > DS.bpSout #0| x|

3 [1] 19343 14808 20727 14862 40635 16498 15296 24799 20613

E > boxplot(DS[which(DS$4a =2<=12500),]1%4 =, main="0[& X H ")
> t.test(DS[which(DS$4=2<=12500), ]$“:) #LHZ 05% A= P
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One Sample t-test

8000
|

§ data: DS[which(DS$AZ <= 12500), ]$42
’ = 14.159, df = 142, p-value < 2.2e-16

% - & S - 5 alternative hypothesis: true mean is not equal to 0
5 e 95 percent confidence interval:
; 3071.837 4068.764
— 8 _ sample estimates:
g : ~ mean of x
S ' 3570.301
Sy M| 27F = = 4068.8-3071.8=997
23 4ol ol dA|H2l(= )
e L e > DS.b52$out ' i
[1] 4.110874
o | > boxplot(Tog(DS[which(log(DS$4=)>5),1842) ,,main="0l&XIH <l (Z2)")
o o > t.test(Tog(DS[which(Tog(DS$4a=)>5),1542))

One Sample t-test

data: 1og(DS[which(log(DS$&2) > 5), J$42
= 100.41, df = 155, p-value < 2.2e-16
alternative hypothesis: true mean is not equal to 0
95 percent confidence interval:
7.851175 8 166287
sample estimates:
mean of x
8.008731
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M2Z|27H Z = exp(8.17-7.85)=967.6

> exp(8.17)-exp(7.85)
[1] 967.6096
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